BHTEE
T &

gl?ll

KRHEBREREZ2ZEBERFEX

EEXERNE - REBEZK
#Hh X £ : ZFHEX

EXEF : BEBBEMCFFEFAI270-12 #h125F

K %
5 B & ®w K =i RAE

[
&
o
iy

& Rt & F = FHgg Kk




T X B B OB
FRAE |EE kil i B I BE o
REME | @ CFiE AE AR s EET] 210-12 12
@
€)
Elwa | & m e SEEY il FHhE %
O3 ¥ A0FERE 8. 85ha 1,533K 13, 570K 23. 4cm 21. 1m
F | @2 /% |[40F£UE 0.47ha 2, 0004 9407 21. 3cm 18. 0m
# :
" et =
B @2 /4
T lem|
@2 t
E 9. 32ha 1, 557K 14, 510K 23. 3cm 20. 9m
g E 2| % - EY 5| % T
E ha%%‘lj{?ﬂ%ﬁ%ﬁ%ﬁ‘f Rtk ha%'l?j‘d 2 R ARG %ﬁéiﬁhﬁhaﬁz%yiﬂx Mgggﬁ‘l‘ %ﬁﬁgﬂijgfﬁf(nﬁﬁ;l;ﬁ‘f RRAOFHWRER
d-1] 1,533K 13,570 | 30% 460K 4,071 [ 100% 460K 4, 071K 16. 7cm
1 M-2| 2,000 9407 30% 6004 282K 100% 6004 282K 17. 3cm
% @
A |2
= 31
@2
:F?/ 1, 557K 14,510 | 30% 467K 4,353 [ 100% 467K 4,353K 16. 8cm




F X B B B =%

i £ # (M) i
x =1
X T £ & AIERNREDEEY
R S

0 EE RK




AR

1

Al

s

il

&

EETIRE

REREO

1=

BA#AZRNO. 112 & B

EETEHEE

MiEIEE

HE R

RIGEEE

FETEER

TER{E

—REEE

TE{fH

HE

AIEE




NO. 1

B i R
BERRD
% # A - Bk 5A B | EE | BEE) | S5 §ﬁ§ s
R
A 3 FEREAREHMSERE6. Tom 8.85| ha 1
& @
t ] S FEREAREHWSERETT. 3cm 0.47| ha 2
REERE W
A -3 FRIEERD100%0 18 8.85] ha 1
REERE &
o / S FRIEERD100%0 18 0.471 ha 2
REERE =0
A -3 FRIEERD100%0 18 8.85] ha 1
REERE 0]
o / ¥ RIEEARD100%0L 18 0.47] ha 2
HARBRY SRR %
ERERY %
MRS %
2 ERE %

=]

9.32] ha




% 1 % s
B @ =R
RAERKRO-1 ¥ {ZFHh X 1hadyt= Y
2 woo| @ A Fotk <t ik BB |E| BEE) | 2BEE) (72 % =
haZif= Y {RERA 4604
| mmexs A 0 |imATiommmEEis. Ton
& F448 IE 1.00
EBEEE A o |@mEME  1.00
Fpid 4 0
pAEIEES haZif= Y) Rife A 24604
B i |mmeExs A o  |@mmE 1.0
EBEEE A 0
Fpd 4 0
Pl
E 4 |nmexs A 0
EEEEE A 0
Fpid 4 0
& ha 0 HHEO




5 2 5

B @ =R
REMED-2 b4 TR thai = Y
2 woo| @ A Fotk <t ik BB |E| BEE) | 2BEE) (72 % =
haZif= Y {& R A 6004
X 1 HIREXS A ZEANFHWEERET. om
& F448 IE 1.00
EBEEE A BEVEE 1.0
Ffa 4
pAEIEES haZif= Y) R A 26004
53 th BHIREXS A 18 7 7 1IE 1. 00
EBEEE A
Ffa 4
Pl
E 4 |wmexa A
EEEEE A
Ffa 4
& ha 0 HHEO




